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Formulae Sheet: Foundation Tier

Area of trapezium = § (a+ b)h ”7—\

Volume of prism = (area of cross-section)x length
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1

Write down the name for each shape.
Choose from the names in the box.

Isosceles
Square Rhombus Triangle
. Equilateral .
Circle Triangle Trapgzaum
Scalene
Triangle Pentagon Rectangle
el
(@) Carcle (]
Rectangle
(b) [1]
@ Rhowmbus 0
) A
leg Trawgle
) T sosceleg ang [1]
(e)
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(a) Write down the coordinates of point E. 4
(@) (

[

(b) Mark and label the points F (2, 3) and G (0, 6).

(c) Julian thinks that F is the midpoint of the line joining E to G.

Explain why he is wrong.

TE i net o~ Elke S-é(msl\‘l' e Lrom

) [1]

[2]

E b &

(1]
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4

Fill in the six gaps in the table.

Decimal Fraction Percentage
0.5 1 _ o4
2
0.3 al) - 30%
o
Q- 25 1 _ 25 /o
4
9
0-09 Yoo = 9%
Complete the sentences.
Use words from this list.
impossible certain fifty-fifty
unlikely

(a) ltis 'G'ﬁ"l' ‘G 'F“'ZL that when you spin an ordinary coin it lands on heads.

b tis_ Wkely

number between 1 and 5.

(c) ltis Un h l( &l% that, one day, your maths teacher will become Prime Minister.

(d) ltis cel kai "\ that if you drop a ball it will move downwards not upwards.

© OCR 2009

that when you roll an ordinary 6-sided dice, you will get a

[6]

[1]

]

[1]

[1]



8 9 10 14
15 20 120
From these numbers write down
(@) the smallest even number,
(a) ?
(b) afactor of 30,
w_ 19 or &
(c) asquare number,
L 9
(d) amultiple of 7,
(d) ‘ 4—
(e) acommon multiple of 30 and 60.
© [0
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7
6 (a) (i) Write down the next number in this sequence.

1 7 13 19 25 m

(i) Describe the rule for continuing the sequence.

AdA on & eaclh Elme [1]

(b) (i) Write down the next number in this sequence.

3 6 12 24 4'_.__3 11

(ii) Describe the rule for continuing the sequence.

Dovble Ehe previws number cach e [1]

7 (a) Complete these sentences.

(i) 1 kilogram is approximately equal to 2 -2 pounds. [11]

(i) 1 gallon is approximately equal to 4‘ -5 litres. [11

(b) Lewis is driving from Paris to Dunkerque.
He knows the distance is 300 kilometres.
He knows that 50km is approximately 30 miles.

(i) Lewis drives at an average speed of 60 km/hour.

How long does it take him to drive the 300 kilometres from Paris to Dunkerque?

hours [2]
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8 A postal company decides whether an item is a Letter, a Large Letter or a Packet by its size.

8

Letter

less than 240mm long and less than 165 mm wide

Large Letter

less than 353mm long and less than 250 mm wide

Packet

longer than 353 mm or wider than 250mm

(a) Lizzie has an item that is 290 mm long and 200 mm wide.

Is it a Letter, a Large Letter or a Packet?

(b) Sam has an item that is 290 mm square.

Explain why it is a Packet.

(a) L d/‘j.e_ LQ{—‘('CF

[1]

B-ecaux-e |{" iS ww‘tf than 290 num

1

The cost of postage also depends on the weight of the item and whether it is Premier or Standard
service, as shown in this table.

Weight Premier Standard
Letter 0-100g 32p 23p
101 - 2509 51p 42p
0-100g 44p 37p
Large Letter 101 - 2509 65p 55p
251 - 5009 90p 75p
501 - 7509 131p 109p
0-100g 100p 84p
101 - 2509 127p 109p
Packet 251 - 5009 170p 139p
501 - 7509 220p 177p
751 -1000g 270p 212p

(c) Tanweer wants to send a Packet that weighs 3009 by Standard service.

How much postage should he pay?

© OCR 2009
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{(d) Jo wants to send this item by Premier service.
It weighs 200g.

NOT TO
Alice Sonith 180mm SgALE

12 LBardfir Glose
Jommersodle
Garnbs

WBB77 §IG

230mm

How much will Jo have to pay?
Show clearly how you decide.

Lar.e '-c,l'f-e,/ laiuvsa ‘lL'DD wide 4"0 Le a |-eH’-¢/‘

(@) x =1 1]

(b) 4= 13 [1]

@ WTeo 1
(d) 10z+6 =21
10z = 21-6
0z = % oz 7 'S 12
z =
000 2000 10 Turn over
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10 The currency used in South Africa is the Rand.
This table gives some conversions between Pounds (£) and Rand.

4 6 10
' 81 135

Pounds
Rand 54

(a) Plot these values on the grid.
Join the points with a straight line to make a conversion graph between Pounds and Rand.

140
120 1+
100
80
Rand
601
40
0
Pounds (£)
) [31
(b) Use the graph to convert £7 into Rand.
(b) O‘ 4) Rand [1]
(c) In South Africa a DVD costs 200 Rand.
)OO = -é 7 .40
What is 200 Rand in Pounds? 200 = £ 14 -0
(e)£ /] 3 2 [2]
£14-60
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1
11 (a) Arectangle is 8cm long and 5cm wide.

NOT TO
5cm SCALE

8cm

(i) Work out the area of this rectangle.

(i) Work out the perimeter of this rectangle.

T+ R+5+S = 26

(b) A second rectangie has an area of 28cm?2.

Write down a possible pair of values for its length and width.

(c) A third rectangle is half as long and half as wide as the rectangle in part (b).

What is the area of the third rectangle? 3 .% ) Z = 7
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12

Francois asked nine of his friends how many hours of TV they watched one weekend.

Here are their answers.

2 7 12 2 -4 14 2 9 2
A—2 =12
#If,l\qlf - LAV‘S{‘_

(b) Calculate the mean of these times.
2+ T 412 42 44 FL +1+4+2 =S4

q (b) é hours [3]
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13
13 This map shows two towns, Anyton (A) and Bayville (B).

Scale: 1cm represents 5 miles.

N
'Y

(a) Find the distance from Anyton to Bayville in miles.

(a) :7 o miles [2]

(b) Measure the bearing of Bayville from Anyton.

065 °

(b) °[11

(c) A third town, Collyborough (C}, is 35 miles from Anyton on a bearing of 100°.

Mark and label C on the map. Craley = | ¢ [2]

‘0 'ZS— '\'\"(“‘ - 74"‘
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14
14 Work out.

(a) 10*
(@ [0 000 ()
(b) 125
(b) 5 11
(c) 43+6°2
= ¢4 +36 = 160
(©) 100 [2]
5 1 [ ]
(d) =x—< - |
(: . in its simplest f //22 ¥ 'L B E
Ive your answer In Its simplest torm. '
o2
) e ,
(d) l| > [2]
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15 Linda works in a sandwich factory.
224

(a) She makes 30 sandwiches every hour.

How long does it take her to make 220 sandwiches?
Give your answer in hours and minutes.

(b) Linda’s wage is £360 a week.

She receives a 5% wage rise. / %) Z - f? G

Work out Linda’s new weekly wage. ( 7 - _f
s = Y

(c) Linda makes cheese sandwiches and chicken sandwiches in the ratio 2 : 3.
She makes 200 sandwiches altogether.

How many of these are cheese sandwiches? g" P s = 2£DO

...................................................................................................................................................
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16 As part of a project, Robert records the ages and mileages of some cars.
His results are recorded in this table.

30

Mileage |:
(thousands) |~

20

10

Age (years) | [2]

(b) Describe the strength and type of correlation shown in your diagram.

b WEAK PoS ITWE  CoRLECATIaN] -

(c) (i) Draw a line of best fit for these data. [1]
(i) Another caris 3.5 years old.

Use your line of best fit to estimate the mileage of this car.

(cXii) 4’ S" thousand miles [1]

© OCR 2002




17

17 The diagram shows a small shop.
The front of the shop, the window and the door are all rectangles.

Work out the shaded area of the front of the shop.
Give the units of your answer.

© OCR 2009 Turn over
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18 (a) Simplify.
2xy — 3xy + 4xy

(b) Find an expression for the perimeter of this shape.
Give your answer as simply as possible in terms of a and b.

4b

(b) Pel(wew = qb 'l‘S-A [2]

(c) Multiply out and simplify.
3(2x+5) +2(4x-1)

© OCR 2009
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19 Estimate the answer to this calculation.

112x 5.8
047

S -t SN s SO S
200 2]

TURN OVER FOR QUESTION 20
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(a) Translate triangle A by (_72)

Label the image P. [2]

(b) Enlarge triangle A by scale factor % using centre (0, 0).

Label the image Q. ' [2]
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